

#### Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media.

Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22

Weekly fees are for illustration purposes only as Echoes charges per session.

Please note Funding illustrations are dependent on eligibility

Children attending 5 days a week receive 5% discount on booking pattern sessions only

	Funded Hours Only Fees Pick and Mix Options Under 2 Year Old Fees									
No of Days Per Week	Hours per Session	Hourly Rate	10 Hour Day Rate	Example Weekly Fee Before Funding	Dept of Education Funding Hours Per Week	Chargeable weekly hours outside funding	Example Weekly Fee after Funding	Additional Cost Meals Per Week £6 per session Parent Opt In	Additional Cost Consumables Per Week £5 Per Session Parent Opt In	
1	10	£7.50	£75.00	£75.00	10	0	£0.00	£6.00	£5.00	
2	10	£7.50	£75.00	£150.00	20	0	£0.00	£12.00	£10.00	
3	10	£7.50	£75.00	£225.00	22	8	£60.00	£18.00	£15.00	
4	10	£7.50	£75.00	£300.00	22	18	£135.00	£24.00	£20.00	
5	10	£7.13	£71.25	£356.25	22	28	£199.50	£30.00	£25.00	

	Funded Hours Only Fees Pick and Mix Options 2 Year Old Fees									
No of Days Per Week	Hours per Session	Hourly Rate	10 Hour Day Rate	Example Weekly Fee Before Funding	Dept of Education Funding Hours Per Week	Chargeable weekly hours outside funding	Example Weekly Fee after Funding	Additional Cost Meals Per Week £6 per session Parent Opt In	Additional Cost Consumables Per Week £5 Per Session Parent Opt In	
1	10	£7.08	£70.83	£70.83	10	0	£0.00	£6.00	£5.00	
2	10	£7.08	£70.83	£141.67	20	0	£0.00	£12.00	£10.00	
3	10	£7.08	£70.83	£212.50	22	8	£56.67	£18.00	£15.00	
4	10	£7.08	£70.83	£283.33	22	18	£127.50	£24.00	£20.00	
5	10	£6.73	£67.29	£336.46	22	28	£188.42	£30.00	£25.00	

	Funded Hours Only Fees Pick and Mix Options 3 Year Old Fees									
No of Days Per Week	Hours per Session	Hourly Rate	10 Hour Day Rate	Example Weekly Fee Before Funding	Dept of Education Funding Hours Per Week	Chargeable weekly hours outside funding	Example Weekly Fee after Funding	Additional Cost Meals Per Week £6 per session Parent Opt In	Additional Cost Consumables Per Week £5 Per Session Parent Opt In	
1	10	£6.92	£69.17	£69.17	10	0	£0.00	£6.00	£5.00	
2	10	£6.92	£69.17	£138.33	20	0	£0.00	£12.00	£10.00	
3	10	£6.92	£69.17	£207.50	22	8	£55.33	£18.00	£15.00	
4	10	£6.92	£69.17	£276.67	22	18	£124.50	£24.00	£20.00	
5	10	£6.57	£65.71	£328.54	22	28	£183.98	£30.00	£25.00	

Hourly rate deductions are calculated on our funded hours only times of 07.30 to 17.30  $\,$ 

Please explore further discounts through tax-free childcare scheme as detailed below.

Echoes Broadclyst
Signal House
Old Broadclyst Station
Station Road
Broadclyst
Devon EX5 3AS
T 01392 460605 Ofsted EY476557

**Echoes Childcare Limited** 



Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media. Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22 Weekly fees are for illustration purposes only as Echoes charges per session.

Please note Funding illustrations are dependent on eligibility

Children attending 5 days a week receive 5% discount on booking pattern sessions only

#### **Shared Care**

If your child attends another setting you may wish to claim some funding hours with Echoes and claim some hours with your other provider.

The amount of hours you claim by provider is dependent on you as a parent but must not exceed your total funded hours entitlement. Not informing us of the correct funding hours for us to claim at Echoes can result in a fine for Echoes. Echoes reserve the right to charge an administration fee of £15 should the incorrect funding information be supplied by the parent.

We ask all parents to confirm with us any other providers and the hours claimed by that provider. You can inform using the link below.

Additional Setting Form - Fill in form

**Echoes Childcare Limited** 



#### Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media.

Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22 Weekly fees are for illustration purposes only as Echoes charges per session. Please note Funding illustrations are dependent on eligibility Children attending 5 days a week receive 5% discount on booking pattern sessions only

Description	Echoes Funded Hours Only Limited places	Echoes Funded Hours Only Optional Charges (Pick and Mix)		
Administration Fee	No Administration Fee Required at Sign Up	N/A		
Fees	As detailed in the price list at the start of this document			
Sessions	Guaranteed Sessions 51 weeks of the year Echoes does not offer term time only Echoes does not offer half day sessions	N/A		
Session Length	10 hours per day	N/A		
Funded Hours	07.30 -17.30	N/A		
Drop off and pick up times	07.30 -17.30	N/A		
Extended session hours	N/A	Parents who choose the funded hours only can opt to extend a session before 07.30 or after 17.30 by prior agreement  Extra hours must be booked in blocks of 1 full hour  Each additional hour is chargeable at the hourly rate for their child's age.		
Late Pick Up / Drop Off Charges	For late pick up outside of the drop off and pick up times above and previously agreed  £15.00 for every part of a 15-minute period  As per terms and conditions	N/A		

**Echoes Childcare Limited** 

**Echoes Broadclyst** Signal House Old Broadclyst Station Station Road Broadclyst Devon EX5 3AS T 01392 460605 Ofsted EY476557 Echoes Winslade Winslade House Manor Drive



### Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media.

Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22 Weekly fees are for illustration purposes only as Echoes charges per session.

Please note Funding illustrations are dependent on eligibility

Children attending 5 days a week receive 5% discount on booking pattern sessions only

Description	Echoes Funded Hours Only Limited places	Echoes Funded Hours Only Optional Charges (Pick and Mix)
Extra Sessions outside agreed booking pattern	Not Included	Additional 10 hour full day sessions to the agreed booking pattern can be booked dependent on nursery availability.  Extra Sessions are charged at the published Funded Hours Only day rate for your child's age.
Echoes Curriculum	All included	N/A
Free onsite parking	All included	N/A
Parent Meetings with third parties	All included	N/A
Activity Consumables	All Included	N/A

**Echoes Childcare Limited** 

Echoes Broadclyst
Signal House
Old Broadclyst Station
Station Road
Broadclyst
Devon EX5 3AS
T 01392 460605 Ofsted EY476557



#### Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media.

Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22 Weekly fees are for illustration purposes only as Echoes charges per session. Please note Funding illustrations are dependent on eligibility Children attending 5 days a week receive 5% discount on booking pattern sessions only

Description	Echoes Funded Hours Only	Echoes Funded Hours Only Optional Charges (Pick and Mix)
Meals Opt In / Out  5 meals / snacks	If parents Opt Out of Echoes meals they are welcome to use the designated room to supervise their own child eat a parent provided meal.  Echoes do not permit parent provided meals for children within the rooms due to airborne allergies. Nor can Echoes supervise the children eating a parent provided meal due to staffing ratios and costs.  Echoes do not have facilities to refrigerate, store or reheat parent provided meals.  Parent provided meals must comply with the government nutritional guidelines which Echoes have built their healthy eating policy and menus around. Echoes will provide a factsheet to advise parents on the healthy eating requirements.  Promotion of healthy eating is a requirement for Early Years Providers.  Parent Provided Meals must also be in line with the Echoes nut free policy. This is due to the risk to our children with airborne allergies.	£6 per session for Echoes Provided Meals fully supervised.
Refreshments and Snacks  Refreshments and Mid-morning/ Mid-afternoon snacks	All Refreshments snacks for agreed sessions are included	N/A

Echoes Broadclyst

Signal House
Old Broadclyst Station
Station Road
Broadclyst

Devon EX5 3AS T 01392 460605 **Ofsted** EY476557 **Echoes Childcare Limited** 



#### Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media.

Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22 Weekly fees are for illustration purposes only as Echoes charges per session.

Please note Funding illustrations are dependent on eligibility

Children attending 5 days a week receive 5% discount on booking pattern sessions only

Description	Echoes Funded Hours Only Limited Spaces	Echoes Funded Hours Only Optional Charges (Pick and Mix)
Personal Care Nappies Wet wipes Nappy creams Disposal of Personal Care Items  Weather Precautions Sunscreen Sunhats Waterproof suits	If parents opt out of Echoes Consumables parents are then to supply sufficient nappies / wet wipes / nappy creams per sessions in a single changing bag clearly named.  Echoes reserve the right to bill the additional consumables charge session rate if the parent does not provide sufficient nappies / wet wipes and creams for the session.  Changing bags cannot be stored overnight at the nursery.  Parents will be required to dispose of any personal care products.  Sunscreen must comply with the Echoes nut free nursery policy and must not contain nut oils.  Sunhats / Waterproof suits to be sent to nursery in a clearly named bag and all items clearly labelled.  Echoes reserve the right to restrict outdoor activities if the correct weather precaution items have not been sent to nursery.	£5 per session to supply and dispose of any personal care items required in the session.  Weather Precautions also provided at the nursery.

**Echoes Childcare Limited** 

Echoes Broadclyst
Signal House
Old Broadclyst Station
Station Road
Broadclyst
Devon EX5 3AS
T 01392 460605 Ofsted EY476557



#### Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media.

Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22

Weekly fees are for illustration purposes only as Echoes charges per session.

Please note Funding illustrations are dependent on eligibility

Children attending 5 days a week receive 5% discount on booking pattern sessions only

Description	Echoes Funded Hours Only Limited Spaces	Echoes Funded Hours Only Optional Charges
Parent App  Access to the online parent app for operationally required forms / invoicing / messaging / child diaries  All about my memories	All Included	N/A
scrapbook.  Offsite Activities	Not included	Optional Attendance
Minibus excursions	Not included	Charge Dependent on Activity
Parent Workshops	Not Included	Optional Attendance
e.g. Sleep workshops  Graduation Ceremony	Not Included	Charge Dependent on Workshop  Optional Attendance
Including entertainment, t-shirts, gifts	Not included	£10 charge per child
Christmas Party	Not Included	Optional Attendance
Including Christmas lunch, entertainment		£5 charge per child
Additional Celebrations	Not Included	Optional Attendance  Charge Dependent on Celebration
Nursery Photographer Sessions	Not Included	Optional Attendance £5 charge per child

**Echoes Childcare Limited** 

Echoes Broadclyst
Signal House
Old Broadclyst Station
Station Road
Broadclyst
Devon EX5 3AS
T 01392 460605 Ofsted EY476557



### Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media.

Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22

Weekly fees are for illustration purposes only as Echoes charges per session.

Please note Funding illustrations are dependent on eligibility

Children attending 5 days a week receive 5% discount on booking pattern sessions only

### **Echoes Sessional Billing**

- Echoes bills per chargeable daily session in the calendar month
- Bills will vary dependent on the number of sessions your child was scheduled to attend
  that calendar month. Therefore parents will need to check their invoice each month to
  pay the correct amount.
- The nursery is closed on the following days and the sessions are not charged
  - o England Bank Holidays
  - o Christmas close down week
- All child absences will be chargeable e.g. due to illnesses, family holiday and appointments
- The All Inclusive rate is based on the 12 hour daily session during which you are
  welcome to drop and collect at your discretion with no additional charge. Collections
  after 18.30 must be notified in writing and agreed two weeks before.

#### Fees Due Date

- Fees are payable monthly in advance.
- Invoices will be sent by email on or around 26<sup>th</sup> of each month for the fees for the coming month. e.g. invoice 26<sup>th</sup> February for sessions in March.
- Fees are due by the 1st of the month.
- Fees can be paid by standing order, from the Tax Free Childcare scheme or voucher schemes or a mixture of all.
- Parents are asked to check their method of payment has been successfully sent from their account every month on 02<sup>nd</sup> to avoid late payment
- Late fees charges will apply for fees not received by the 5th of the month
- Late fees will be charged for sessions after 6.30pm not advised in advance

### Stretched Funding

- The funding offered and advertised by the government is for Term Time Only weeks which is 38. Therefore, the advertised 30 hours funding per week is only for the 38 term weeks
- As Echoes is open 51 weeks of the year we take the total hours per year offered by the government and split them over the 51 weeks of the year.
- This means that you get the total government funding but equally spread over the 51 weeks we are open
- The Department of Education set the number of hours that can be claimed based on the number of days per week, please refer to the Funding Allocation section below.

**Echoes Childcare Limited** 



### Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media.

Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22 Weekly fees are for illustration purposes only as Echoes charges per session.

Please note Funding illustrations are dependent on eligibility

Children attending 5 days a week receive 5% discount on booking pattern sessions only

### **Funding Allocation**

- To assist parents in understanding how their funded hours will be applied please see the tables below.
- The table shows how many hours funding is available per week based on the number of days your child attends Echoes. It then shows how much of the weekly funding is applied to each of the days they attend. This grid assumes that Echoes is the only setting and all funded hours are allocated to Echoes.
- It is the parents' responsibility to notify Echoes if their child attends another setting and how much funding is to be used at each setting.

Funding allocation by day								
No of Days	Weekly Funded Hours	Funding applied Day 1	Funding applied Day 2	Funding applied Day 3	Funding applied Day 4	Funding applied Day 5		
1	10	10 hours						
2	20	10 hours	10 hours					
3	22	10 hours	10 hours	2 hours				
4	22	10 hours	10 hours	2 hours	0 hours			
5	22	10 hours	10 hours	2 hours	0 hours	0 hours		

#### Tax Free Childcare

Did you know that the government offers tax free childcare to eligible families in addition to the funding schemes and that Echoes Childcare is registered to receive payments from the government's Tax Free Childcare Scheme.

You can apply for Tax Free Childcare even if your child receives funding.

#### What does that mean?

It could mean the government pays you up to £2,000 per child per year for use against your childcare costs.

#### How does it work?

You pay money into a Tax-Free childcare account and for every £8 you pay in, the government will automatically add £2, up to £2,000 per child per year (or £4,000 for disabled children).

This money can be used to pay your childcare provider directly. You will have **apply** as we can't do that for you but we do accept payments from tax-free child care accounts.

**Echoes Childcare Limited** 

Signal House
Old Broadclyst Station
Station Road
Broadclyst
Devon EX5 3AS
T 01392 460605 Ofsted EY476557

**Echoes Broadclyst** 



#### Effective from 01st September 2025 to 28th February 2026

Please note we ask that this price list is not shared on social media.

Echoes offers stretched funding as we are open for 51 weeks 15 hours =11 30 hours =22

Weekly fees are for illustration purposes only as Echoes charges per session.

Please note Funding illustrations are dependent on eligibility

Children attending 5 days a week receive 5% discount on booking pattern sessions only

#### **Echoes Childcare Tax Free Childcare Carer ID**

When searching for Echoes Childcare on the Tax-Free Childcare site **both** our Broadclyst and Winslade Nurseries are processed under Echoes Childcare, Signal House, Old Broadclyst Station, Station Road, Exeter, Devon, EX5 3AS

#### Below is an example of the calculation of how much to deposit in the Tax Free Childcare account

If your Echoes monthly fees are £100

• £100 \* 0.80 = £80.00 this is the amount you deposit in the scheme

• £100 \* 0.20 = £20.00 this is the amount the government will automatically top up (up

to £500 per 3 months)

Therefore, there will be £100 in your Tax Free Childcare account to pay our £100 fees but you have only had to pay in £80.00.

Parents need to ensure that payments to Echoes Childcare are successful from the Tax Free Childcare account as bank holidays / weekends / insufficient funds can mean payments are not made.

#### Where to apply?

For more information and to check your eligibility click on the link below

https://www.beststartinlife.gov.uk/eligibility-checker

Or go to the directly to the government page below

https://www.gov.uk/tax-free-childcare

#### Echoes Childcare Tax Free Childcare - Carer ID

When searching for Echoes Childcare on the Tax-Free Childcare site **both** our Broadclyst and Winslade Nurseries are processed under Echoes Childcare, Signal House, Old Broadclyst Station, Station Road, Exeter, Devon, EX5 3AS

**Echoes Childcare Limited**